CLASS - VI
SUBJECT - COMPUTER

. ASCII is a method of character encoding. The full form of ASCII is............
A)American Standard Code for Interrelated Information

B)AIl world Standard Code for Information Interchange

C)AIl world Standard Code for Interrelated Information

E)None of these

Y 1 oF | [N 13- T — Bit code which includes 128 characters.

A)Six

B)Seven

C)Eight

E)None of these

. Software is a computer program which cannot be touched. Which one of the

following is the example application software?
A)Paint

B)MS Word

C)Power point

D)AIl of these

. System software can be further categorized into three types. Which of the following
is system development software?

A)Language translator

B)Application generator

C)CASE tools

D)AIl of these

. An outermost part of computer is called skin ware. Which one of the following is an

example of skin ware?
A)Hard disk

B)RAM

C)SMPS

D)Cabinet of CPU

. The combination of hardware and software is called.....ccceunennnnns

A)Live ware
B)Firmware
C)Skin ware
D)System software

. Live ware is also called human ware. Which of the following is human ware?



10.

A)
B)
C)
D)

11.

12.

13.

A)Computer operator
B)Programmer
C)Service engineers
D)AIl of these

. System software performs various types of functions such as.....ccccurrmrnnans

A)Storage management
B)File editing
C)Resource accounting
D)AII of these

. A translator converts code into machine code. That machine code is directly

understood by microprocessor. Which of the following is translator?
A)interpreter

B)Compiler

C)Assembler

D)AIl of these

Match the following:

A B

1. Software stores in IC is an example of A. Application software
2. Cabinet of CPU B. System software

3. CD of MS Word C. Skin ware

4. Railway Reservation System D. Live ware

E. Firmware

In which year was Windows 10 launched?
A)2012
B)2013
C)2014
D)2015

Which of the following acts as an interface between a computer hardware and user?
A)CPU

B)Mouse

C)Operating System

D)Windows NT

Which of the following manages memory access for programs in the RAM?



14.

15.

16.

A)User interface

B)Memory management
C)Kernel

D)File management system

A type of operating system is called open source operating system in which source
code can be modified and redistributed over the internet. Which one of the following
is that operating system?

A)Windows

B)Windows NT

C)Mac OS

D)LINUX

UNIX is one of the time sharing operating system primarily intended for program
development and document preparation environment. Which of the following is/are
the features of UNIX?

A)Hierarchical file system

B)Device Independence

C)Multi-user Operation

D)AIl of these

The OS is a master control program that handles all activities in the computer. Which
of the following OS is/are multi-user 0S?
A)Windows Vista

B)Windows 7

C)UNIX

D)AIll of these

17. While working in MS-Word, what is the use of Shift + F7 keys?
A) To popup Spelling and Grammar check window
B) To popup Format dialog box
C) To popup Thesaurus dialog box
D) To popup Find and Replace dialog box

18.Which of the following helps to reduce spelling errors in the document?
A) Auto Format

B) Auto Correct

C) Smart Tags

D) Auto Text

19.Which of the following gives the status of your document like page numbers, number of page etc.,?
A) Status bar

B) Title bar

C) Tool bar

D) Task bar



20.Neha has typed the word "are’ instead of ‘or’ in the document. What should she do to change all the
words that are typed incorrectly?

A) Use arrow key to find every incorrect word and correct it.

B) Use find and replace function to find every incorrect word and replace it.

C) Re-type the whole document carefully.

D

~—

Highlight all the incorrect words.

21.What is the shortcut key to add or remove space before a paragraph?
A) Ctrl + P
B) Ctrl + 8
C) Ctrl + 0
D) Ctri+ G

22.Which of the following menus has symbol option?
A) View

B) File

C) Tools

D) Insert

23.What displays the spelling mistake in a document?
A) green line

B) blue line

C) black line

D) red line

24.What is the shortcut key to increase the font size of selected text in MS-Word?
A) Ctrl + Shift + G
B) Ctrl + Shift+ >
C) Ctrl + Shift + <
D) Ctrl + Shift + X

25.In MS-Word, what does the green line under a sentence in a document indicate?
A) Spelling mistake

B) Grammatical error

C) Synonym

D) Thesaurus

26.Vimal was given an assignment by his teacher to write the list of states in India with a number. What
are the steps he needs to follow to insert numbers to the list?

A) Format — Bullets and Numbering

B) Insert — Bullets and Numbering

C) Edit — Bullets and Numbering

D) Tools — Bullets and Numbering

27.What steps are needed for inserting a table?
A) Insert — Table

B) Format — insert — Table

C) View — Insert — Table

D) Tools —»Table

28.Which of these combines two or more selected cells into a single cell?
A) Wrap text
B) Merge cells



C) Shrink to fit
D) Orientation

29.What is the process of improving the appearance of text in MS-Word called?
A) Setting the text

B) Editing the text

C) Formatting the text

D) Operating the text

30.In MS-Word, what is the purpose of drawing tool box?
A) To place clip art into the document.

B) To draw tables.

C) To draw shapes like square, circle etc.

D) To write text.

31.Which option can be used for setting custom timings for slides in a presentation?
A) Slider timings

B) Slider timer

C) Rehearsal timings

D) Slide show

32.What does 'Design’ tab do in MS-PowerPoint?

A) It changes the content of the slide.

B) It adds functionality to the slide.

C) It changes the look of the slide without changing the content.
D) It changes the alignment of the content in the slide.

33.Which of the following allows you to add text to a slide without using the standard placeholders?
A) Text tool box

B) Line tool

C) Shapes tool

D) Drawing tool

34.What holds text in a Power point slide?
A) Auto layouts

B) Place holders

C) Text holders

D) Object holders

35.Which command will bring you to the first slide to a presentation?
A) Ctrl + N

B) Ctrl +J

C) Ctrl + Home

D) Ctrl + Insert

36. Which of the following will not advance the slides in a slide Show view?
A) Esc key
B) Enter key
C) Mouse button
D) Spacebar key

37.___is a version of Google's Android operating system designed for smart watches and other wearable
devices.



A) Android Tear
B) Android Wear
C) Android Near
D) Android Deer

38.Multi-touch is a technology that enables touch screen devices to recognize touch gestures on multiple
points on the surface of a device. Which among the following is a multi-touch gesture?

A) Tap

B) Slide

C) Pinch

D) Swipe

39.Moto 360 and Samsung Gear Live are Android wear operating system based ____ .
A) Smartwatches

B) Tablet computers

C) Smartphones

D) Laptops

40.___ is the name given to a concept or idea that spreads "virally” from one person to another via the
Internet.

A) Internet marketing

B) Internet2

C) Internet Bime

D) Internet meme

41.What is "Google Now'?

A) It is an intelligent personal assistant.

B) It is a web browser.

C) It is a new version of Google Chrome web browser.
D) It is a play store for smartphones.

42.HTML is not a programming language, it is a markup language. HTML language is developed by .
A) Charles Babbage

B) Dennis Ritchie

C) Tim Berner-Lee

D) All of these

E) None of these

43.URL is a globally recognized address of a document which is accessible on the Internet. A URL
consists___parts.

A) Two

B) Three

C) Four

D) URL is not divided in part.

E) None of these

44.CD - Player is based on direct access technology. Which of the following are the features of CD player?
A) Tracking device

B) Derive motor

C) Laser

D) All of these

E) None of these



45.The entire content of the HTML page comes under the opening and closing of the <html>tags. Which of
the following tag defines reference for the resource?

A) <link>

B) <base>

C) <meta>

D) BothBand C

E) None of these



